
Trigonometry And Matrices : De Moivre’s Theorem

Calculus

Cost +26sB -13Cost = 0 and Sind t2sinB+3Sinr=0

Prove that

C) 6834 + 8 Cos 3ps +27 Cos3r = 18 Cos (✗ +Btr)

(Ii) Sin32+8 Sinsp -127 sin3r= 18 sink +Btr)

¥ a = loss + i sins

b-- 2 Gsp + izsinp

C = 3 Gsr + i 3 sinr



Atb -1C = (lost + 2 hosp + 3 Gsr) + i (Sind + 2 sinP
+ 3Sind

= o + io

atbtc = 0

a
}

+ b
>
+ = 3 a bc

Cos ✗+ i sins} + (2 hosp +2isinB)
3
+ ( 3 Eos- +issinri

=3 ( Cosi + i sin2) 2 (GSP+ isinp
3 ( Corr + i sinr)



Cos 32 + i sin 32 + 23 (cosB + isinp} -127 (cos* + i sinr}

= 18 Gist . Crisp .
Loisr

Cos 32 + i sin 32 + 8 Cos 3 P + 8 i sinsB + 27 Cos3r -1

27 i sin >r =

Is Cis (✗+ Btr )

Cos 32 1- 8 Cos 313 +27 Cos3-⇒ i. (sin32+8 sin 313 -1
27 Sin3h =

18 ( lost+Btr)+i sink+Ptsd



Cos 32 1- 8 loss B + 27 Cossr = 18 Cos K -113+4

Sin 32 -1 8 Sin 3 B + 27 sin 3r = 18 Sin (2+13+2)

Hence Proved.
=


